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QID : 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Teafofag uy # Rr ow Rredt & @ uy By
(?) & TAT W e arell T F FAT

19
22

32
?

| ~N|00| >

DO W O

Options:

1)48

2) 40

3) 44

4) 36

Correct Answer: 44

QID : 202 -

How many rectangles are there in the given figure?

& o gpfa # fraer smaa 2

Options:

1)6

2)7

3)8

4)9

Correct Answer: 7

QID : 203 -

in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from O to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 32, 85, etc., and ‘N’ can be represented by 04, 89, etc.
Similarly, you have to identify the set for the word “TACT”.

UH A ad U FEA-HAE arr gufam amm ¥, Shar T fawedt A @
sl v & Rz mam ¥ Raeut # B v gwr-wag 3Rt & o ant
arr gafe arw ¥ Star B Ru otw & sneygd # ¥ anegp b waew i
ufts & dear 0 @ 4 ¥ 3R e H 5 @ 91 27 e A uh @R
o ugd sEH uRh AR arg F FaEe GEAT qrr gfar S awar ¥
3GRA0T & fAw ‘A’ @Y 32, 85 31T RT qfAT ST Thar ¥ GAT ‘N’ B 04,
89, 3nfg arr gfr S F@ar ¥ s @ F UM uw A RU e
“TACT” & faU W & ueaEar ¥

Matrix-I Matrix-Ii

NYg-1 -l
0(1|12(|3]|4 5|6|7|8|9
O[F[E[J[T[N S|UJE[S|V[X
1|YIM|B|C|A 6|O|K|[F[C|Z
2|1Z|G(wW|I [Q fIL]|Q|Z]|Y|D
3(D|F|A[L|R 8|A[E|I[S|N
4 (U1 |Y|V]X 9|L|M[T|C]| I

Options:

1) 03, 14, 13, 97
2) 31, 32, 02, 03
3) 97, 86, 97, 98
4) 20, 89, 68, 23
Correct Answer: 03, 14, 13, 97

QID : 204 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 IR A F T 3@ TR HPlA H FAw
orw & uy sl BT &

Options:

1)

2)

3)

&

Correct Answer:

o
=]

o
o
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QID : 205 -
Which answer figure will complete the pattern in the
question figure? o
4)
e e g ® & T @ Q@ Correct Answer:
FHaM?
PAN
2P
&ld A
Options
QID : 207 -
( ) A piece of paper is folded and punched as shown
1 below in the question figures. From the given
) answer figures, indicate how it will appear when
opened?
2) @ & oy ngpladl # REmw gErR e @
AsAT Bt IUT Wio & d1g g fFE IR g
@_ s femars g
3)
4)
Correct Answer: Options:
o o
DEI
1)
_CD o
o O
o o
2)
QID : 206 - o o
If a mirror is placed on the line AB, then which of the ]
answer figures is the right image of the given 3) 0o
figure?
o
ofy Te 90T A AB Y@ W @l S, & & as e
S - - 4)
AR A 8 e R = Correct Answer:
e ufatesa gefr? -
oO
A I:Il:l [e)
VAN Oo
B DD o
Options:
~ QID : 208 - If 'P' means '+', 'Q' means '+', 'R' means 'X'
and 'S' means ', then
1) 54R11P99Q23S14="?
qﬁ |P| ol 3_]-2&- |+|, IQI ol 3_]-25- |+|, IRI Eal 3_]-2j- IXI HQIT ISI
= Fr37Y @Y, ar
2) 54R11P99Q23S14 =2
Options:
PaN 1) 35
2) 15
3) 3) 44
4) 57
Correct Answer: 15




QID:209-1f6P3Q1=19and5P2Q7 =17,
then3P4Q2=7?
IT6P3Q1L=19d5P2Q7 =178, A3P4Q
2="?

Options:

1) 17

2) 14

3) 16

4)9

Correct Answer: 14

QID : 210 - Arrange the given words in the sequence in
which they occur in the dictionary.

1. Locker

2. Lamp

3. Lost

4. Longer

5. Listed

fATIT@T ersel 1 Aseehier F 3T Tl A F AR
forg|

1. Locker

2. Lamp

3. Lost

4. Longer

5. Listed

Options:

1) 25314

2) 25143

3) 25134

4) 25431

Correct Answer: 25143

QID : 211 - In the following question, select the missing
number from the given series.

6,7,9,12,16,?

fAFafaf@d gea & QU v fAevedt & & ocd 3 A
ST

6,7,9,12,16,?
Options:

1) 20

2)21

3) 22

4) 23

Correct Answer: 21

QID : 212 - A series is given with one term missing.
Select the correct alternative from the given ones that
will complete the series.

AZ, BY, CX, DW, ?

T 3efehA T o &, Tord @ v ug ofed g1 T
T fAhedt # § a8 T Ahod AT, ST IThA Y
Q@ A

AZ, BY, CX, DW, ?

Options:

1)EU

2)FV

3)EV

4) FU

Correct Answer: EV

QID : 213 - In the following question, select the odd
word from the given alternatives.

rAfaf@a g2 & U v Adhedl & & fAwe g #r
AT

Options:

1) Lips

glo

2) Hand

gy

3) Feet

ery

4) Liver

apd

Correct Answer: Liver
ghd

c

TJFHd

c

QID : 214 - In the following question, select the odd
number pair from the given alternatives.

AT ad 927 H G v a@eul H & v dEar
g7A Fr gﬁn:rl

Options:

1)4-16

2)5-24

3)6-36

4)7-49

Correct Answer: 5 - 24

QID : 215 - In the following question, select the odd
letters from the given alternatives.

eAfaf@d ueT & feu av RAkredl & & fAwer 3Ry
& gfav|

Options:

1) AB

2)YZ

3) RQ
4) VW
Correct Answer: RQ

QID : 216 - Identify the diagram that best represents
the relationship among the given classes.
Spoon, Fork, Utensils

g8 NG AT S A U 1w gt & & & Heer Hr
TE RO e B

IFAE, Fiel, TdaT

Options:

@D
@D

1)

2)



O
O

4)

Correct Answer:

QID : 217 - In the following question, select the related

word from the given alternatives.
Water : Thirst: : Food : ?

fArafaf@a g 7 fGu v fowedt 7 & gefeq eeg
@ giaw|

S SO e ?
Options:

1) Cook

YohlaT

2) Hunger

T

3) Eat

ECIGIE

4) Stomach

3c¥

Correct Answer: Hunger
HY

N

HYE

N

O

3)

QID : 218 - In the following question, select the related
number from the given alternatives.
372:42::456:7?

frafaf@a uea & feu v fawedt 7 & wafta awar
& gAT|

372:42::456:7

Options:

1) 120

2) 60

3) 30

4) 40

Correct Answer: 120

QID : 219 - In the following question, select the related
letters from the given alternatives.
GAME : ECKG : : ROME : ?

Ffaf@a g2 & fou a1v foweal & ¥ defoa 3Rt
@l giaw|
GAME : ECKG : : ROME : ?

Options:

1) PQKG

2) PQKH

3) PRKG

4) PRKH

Correct Answer: PQKG

QID : 220 - In the following question, select the word
which cannot be formed using the letters of the given
word.

TRAMPOLINE

fArfaf@d fasedl & @ a8 wse IAw S fqw v
eG b IERT FT TANRT dch Aal SoIAT ST HhdT|

TRAMPOLINE
Options:

1) TRAM

2) MINER

3) TRAIN

4) PAID

Correct Answer: PAID

QID : 221 - There are 50 building in a row. Green
building is 14™ from right end. What is its position from
the left end?

U dfFd & 50 $ARA &1 &8l $ARd g ©R ¥ 14 df
gl 9 ®R ¥ sHET TATH FAT &2

Options:

1) 37

2) 36

3) 38

4) 35

Correct Answer: 37

QID : 222 - The present ages of P and Q are in ratio 3 :
5. 6 years ago the sum of their ages was 52 years. What
is the present age (in years) of Q?

P YT Q! TAT MY 3: 5% 3qud H gl 6a¥ qd
3eTchl 3 &1 AT 52 @Y AT| Q T aciATT 31 (st )
FT 82

Options:

1) 30

2)24

3) 40

4) 36

Correct Answer: 40

QID : 223 - In the following question below are given
some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be
at variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logically follows the given statements.
Statements:

I. Some red are black.

II. No red is green.

Conclusions:

I. Some black are green.

II. Some black are red.

A T v weed & F FUSA IR 3TF a6 3T FUA
W IR Fo ey o 1w g, greife 3o gy



AT az & fRewtar g Fehct g1 Tl sy 9 3k
it faiRa &t & fov v la @ oy, R are
FYAT & YR W GiFawera gl

S Yo

1. T ol HTel g

II. S oTel &T 8T &

s

1. $G Frel & &l

II. F& Fe ool 8|

Options:

1) Only conclusion (I) follows.

Faer fashy (1) @er

2) Only conclusion (II) follows.

oo s (I1) |8 2

3) Both conclusion follow.

alet & sy @ g

4) Neither conclusion (I) nor conclusion (II) follows.
F ar TRy (1) 7 & sy (1) 98 &

Correct Answer: Only conclusion (II) follows.

Fad s (I1) T8 &
o ar SRy (1) & & fsay (1) a8 &

QID : 224 - In a certain code language, "STRANGE" is
written as "HGIZMTV". How is "FRAUD" written in that
code language?

T faferse s #mwr

#, "STRANGE" &I "HGIZMTV" for@r Sirar 81 38 &I
9T F "FRAUD" & {59 yoeR for@r smeem?
Options:

1) UZIWD

2) UIZFW

3) WFARU

4) WDNMR
Correct Answer: UIZFW

QID : 225 - In a certain code language, "SALE" is
written as "35" and "FLAT" is written as "37". How
is "TAKE" written in that code language?

e fAfAse s s

#, "SALE" &I "35" 2T "FLAT" &I "37" for@r Jrar gl
30 HIs AW #H "TAKE" &I fha yaR for@r Srean?
Options:

1) 36

2) 33

3)37

4) 35

Correct Answer: 35

QID : 226 - For what value of A, number 33A1 is
divisible by 9?

A% | AT & fav d&ar 33A1, 9 @ a3 82
Options:

1)4

2)2

3)9

4)6
Correct Answer: 2

QID : 227 - Which of the following statement(s) is/are
true?

I. There are 12 multiples of 9 from 7 to 109.

IL. There are 9 multiples of 13 from 19 to 119.

Ffoi@d & @ @i /8 I T 8/e?
L 79 109d% 9 12 I[UTish g
IL 199 119 d 13 & 9 0TI &
Options:

1) Only I

Fad I

2) Only II

Faer II

3) Both I and II

I gar I gt

4) Neither I nor II

FAIFTEI

Correct Answer: Only I

Fad 1

QID : 228 - How many numbers are there from 14 to
159 which are divisible by both 2 and 8?

14 ¥ 159 d& T fohdelr TEaw § S 2 a1 8 aer o
s gy &2

Options:

1)7

2)9

3) 11

4) 12

Correct Answer: 9

QID : 229 - What is the least commom multiple of (4/9)
and (16/27)?

(4/9) AT (16/27) &1 TcH FATIGH FT §?
Options:

1) 16/9

2)2

3) 15/9

4) 15/16

Correct Answer: 16/9

QID : 230 - Which of the following number is
completely divisible by 4?
Arfaf@d # @ wla @ dear 4 @ uia: Qs g

8?

Options:

1) 97634

2) 47654

3) 83544

4) 31459

Correct Answer: 83544

QID : 231 - What is the simplified value of [(V41 +
V7) + (V41 -vY7)]?

[(V41 + V7) + (V41 — V7)] & T AT F41 87
Options:



1) (24 + V287)/17

2) (24 — V287)/17

3) (V41 + V7)/2

4) (V51 — vV41)

Correct Answer: (24 + V287)/17

QID : 232 - L alone can complete a work in 200 hours.
M alone can complete the same work in 150 hours. L, M
and N together can complete the same work in 60 hours.
In how many hours can N alone complete the work?

L U& 1 HI 3her 200 € F G F FhaT g1 M 38T
FR & 3hell 150 €6 #F QU & bl gl L, MTar N
fAerey 38 1 @1 60 6 F QU HT Fhd &1 N 3rhell
38 1 H fFdel €6 F @ Hwm?

Options:

1) 200

2) 240

3) 180

4) 120

Correct Answer: 200

QID : 233 - Mukesh and Dinesh together can complete
a work in 120 days. Mukesh alone can complete the work
in 150 days. In how many days can Dinesh alone
complete the work?

HRY TUT & Teh R &l Aerery 120 foell H g &
"ehel &1 HDPA 3holl HRT AT 150 feall H g T Fehell
g1 feoer 3rpem 38 F I fFas Rt 7 o HEm?
Options:

1) 650

2) 720

3) 450

4) 600
Correct Answer: 600

QID : 234 - What is the area (in cm?) of an equilateral
triangle whose side is 12 cm?

U FASg Aefer rAer o 12 A &, T &b
&3> ) Far g2

Options:

1) 24V/3

2) 36V3

3) 42V3

4) 48V3

Correct Answer: 36V3

QID : 235 - An article has marked price of Rs 7600 and
is available at a discount of 15%. The shopkeeper gives
another discount to the buyer and sells the article for Rs
5814. What is the second discount (in %) offered?

Teh g&d I Jfehcd Hed 7600 T § AT 15% H g W
3YTSH §| GhIER, Ageh A Toh Jifaled g 3ar &
YT TG T 5814 F A I T §1 gEY IR & TS T
(% #) frae &2

Options:

1) 20

2) 10

3) 12.5

4) 15
Correct Answer: 10

QID : 236 - Mohan purchased an article at a discount of
30% and sold it to Shyam at 20% profit. What is the
ratio between the marked price and the price for which
Shyam purchased the article?

HIgeT Teh T I 30% HT F W TAGAT § TUT 38
QAUTH I 20% & o T & &l gl 3fehd Hed aar
O Hod W &H o a&q & Tl B, & & &
3T AT 872

Options:

1)25:21

2)20:17

3)12:11

4H4:1

Correct Answer: 25: 21

QID : 237 - The ratio of two numbers is 11 : 14. If their
difference is 51, then what is the smallest number?

ar FEAT3T HT I 11 : 14 §1 I IeTehr 3R 518,
ar IEE OIS TEAT F4T &7

Options:

1) 187

2) 238

3) 133

4) 94

Correct Answer: 187

QID : 238 - Of three positive numbers, the ratio of

first and second is 5 : 6 and that of second and third is 9
: 1. The product of first and third number is 480. What is
the sum of the three numbers?

AT Yllcsh TEan3 & ggell TUT q@dl T JHeurd 5
6 & 3R gEY TqUr MEY F T 9@ 1§ gge AT
Al H&AT HT IUAR 480 g1 Al HEATIHT T IreT
F1 87

Options:

1) 560

2) 640

3) 720

4) 840

Correct Answer: 560

QID : 239 - Average of 10 consecutive even numbers is
11. Which number is the smallest of the 10 numbers?

10 AT GHF &3t & 3ad 11 &1 10 gEamsit &
¥ g9 BT T&AT i & §?

Options:

1) 4

2)6

3)8

4)2

Correct Answer: 2

QID : 240 - By Selling 4 articles for 1 rupee, a man
losses 50%. Had he sold 2 articles per rupee, then what
will be the profit percentage?



139 # 4 TEJ3T & I W Teh FTFd H 50% hr
gifel gIc &1 I1S 96 Ueh 9 & 2 aEQU o, @l ofred
gfaera &1 gem?

Options:

1) 20

2) 30

3) 25

4)0

Correct Answer: 0

QID : 241 - An article was sold at 25% gain. Had it
been sold for Rs 375 more, then the gain would have
been 50%. What is the cost price (in Rs) of the article?
Teh GE] AN 25% ol T =7 9147|375 F

HF Hed W 3F T ST, dF 50% T AT g gl
aEJ HT HT Hed (T H) T §?

Options:

1) 1000

2) 1500

3) 1800

4) 2000

Correct Answer: 1500

QID : 242 - A man spends 75% of his income and saves
the rest. If his income increases by 50% and spending
increases by 80%, then what is the percentage change in
his savings?

Teh STTFd 3= 3T T 75% T X ST & AT STehr
garar §1 afe 3T 3T 50% & Tt & TUr T Y
80% ¥ §¢ ST &, df 3T sad H frder gfaea
gRade g3 &2

Options:

1) 40% decrease

40% T FHAT

2) 50% increase

50% hr aﬁg’

3) 50% decrease

50% I FHaAT

4) 40% increase

40% T aﬁr

Correct Answer: 40% decrease

40% T AT

QID : 243 - In a college 40% students are graduates. If
the number of graduates is 7000, then what are the total
number of students in the college?

T AgIfacATeT 7 40% BT TS ¢ I ToATahr 6
&1 7000 €, A FeTideArera H ol I Hol FEAT T
&

Options:

1) 19500

2) 18000

3) 17500

4) 21500
Correct Answer: 17500

QID : 244 - The downstream speed of a boat is 42
km/hr and the speed of current is 3 km/hr. What is the
total time (in hours) taken by the boat to cover 72 km
upstream and 84 km downstream?

fordt afra hr aTfed URT & 3eTeher 42 fop. Al /Eer § aur
YRT Fr Afa 3 A /Aer g1 aRT & fauda 72 fhaT
TqUT URT & 3Helehel 84 fh.A. &1 gl 7 el & a1
& Fol Tohclell FHI (et #) ofarar §?

Options:

1)3

2)4

3)5

4)6

Correct Answer: 4

QID : 245 - Jatin goes to a place at a speed of 5 km/hr
and return home at speed of 10 km/hr. What is his
average speed (in km/hr)?

Jfast 5 fmAl/ae : a1fd & v TUT T Sar g 9
10 fRr.at/ae & aifd & =R arad 37ar g1 38 tad
It (Tr.#Y./aer #) &7 82

Options:

1) 6.5

2)6.8

3) 6.67

4)8

Correct Answer: 6.67

QID : 246 - What is the sum (in Rs) of money which will
become Rs 26620 at the rate of 10% per annum at
compound interest in three years?

g It (3 H) Far § S e ant 7 10% Fr arfs
SOTST X O TUhgfg TSl W 26620 & g1 Saaf?
Options:

1) 20000

2) 22000

3) 25000

4) 26000
Correct Answer: 20000

QID : 247 -
The pie chart given below shows the number of

marks scored by a student in the given 5 subjects.
The total marks scored by the student is 480.

fr e v g7 Ry & T v 5 fawat 7
Tt gRT grod 3R FY cRtar T d fRramet
T ST A 3% 480 ¢

Mathematics / Economics/
a1fora, 90° 39TET, 54°
Hindi/
&, 72°
History /
sfaera, 108° English/
3795, 36°




What is the difference between the marks scored by the
student in Mathematics and the marks scored in Hindi?

ezt garr aifora & wrea 3t aur BEr & grea it

% HET 3 FT 72
Options:

1) 36

2) 25

3) 24

4) 45

Correct Answer: 24

QID : 248 -
The pie chart given below shows the number of

marks scored by a student in the given 5 subjects.
The total marks scored by the student is 480.

e T 9w g7 oy & T o 5 fawat #
et ERT 9Iod 3fRr Y gRtar T g1 Rramet
T 9T FA 37 480 Bl

Mathematics / Economics/
a1foTd, 90° 3TATET, 54°
Hindi/
& 720
History /
sfagrd, 108° English/
37T, 36°

The marks scored by the student in Hindi is how much
percent more than the marks scored in Economics?

faearedt ganrr f&er & urea 37 e # 9o 3R ¥
forder afaera 3w g2

Options:

1) 27

2)9

3)33.33

4) 18

Correct Answer: 33.33

QID : 249 -
The pie chart given below shows the number of

marks scored by a student in the given 5 subjects.
The total marks scored by the student is 480.

A T 9w @ oy & T e 5 fawat # ww
ot gRT greg 3R Y ctar T F Rremet
T 9T A 37 480 B

Mathematics / Economics/
ITfoTd, 90° 3TATET, 54°
Hindi/
& 720
History /
gfaerw, 108° English/
3731ST, 36°

What is the average marks scored by the student in Hindi
and Mathematics?

facamef garr & aqar aifta & wea itad 3 &=
&

Options:

1) 120

2) 216

3) 96

4) 108

Correct Answer: 108

QID : 250 -
The pie chart given below shows the number of

marks scored by a student in the given 5 subjects.
The total marks scored by the student is 480.

e e 9w g7 Ry & T av 5 fawat 7
Tt T 9od 3eRr v gATAT AT F fremat
TR 9T FoA 3F 480 B

Mathematics / Economics/
a7foTd, 90° 3T, 54°
Hindi/
&, 72°
History /
gforerd, 108° English/
39S, 36°

In which of the following 2 subjects the sum of marks
scored by the student is equal to the marks scored in
Mathematics?

Freafafd & & frer 2 vt # feanedf qarr g
UTed 3k ITOTT & UTed 37l & sRIe 87

Options:

1) Hindi and History

f&&r @ sfaera

2) Economics and English

HAAMET TUT 3T

3) Mathematics and Hindi

afora aar e

4) English and Hindi

33T aur jRér

Correct Answer: Economics and English

ITANRMET AT 3i3rah

QID : 251 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

The Chairman of the company urged all employees (1)/
to refrain from making long personal calls during (2)/
working hours in order to boost productivity. (3)/ No
error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 1



QID : 252 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

For the same reason, Business Correspondent Agents
which (1)/ constitute the primary channel for financial
inclusion (2)/ are unable to pursue their activity as a
fulltime job. (3)/ No error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

QID : 253 - In the following question, the sentence
given with blank to be filled in with an appropriate word.
Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

I shall be to go.

Options:

1) now

2) obliged

3) oblige

4) meander

Correct Answer: obliged

QID : 254 - In the following question, the sentence
given with blank to be filled in with an appropriate word.
Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

I write my sister every month.

Options:

1)in

2) of

3) to

4) at

Correct Answer: to

QID : 255 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Float

Options:

1) Slide

2) Drown

3) Sink

4) Decline

Correct Answer: Slide

QID : 256 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Grab

Options:

1) Catch

2) Release

3) Forgo

4) Yield

Correct Answer: Catch

QID : 257 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Oversee

Options:

1) Supervise

2) Follow

3) Obey

4) Neglect

Correct Answer: Supervise

QID : 258 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Menacing

Options:

1) Helping

2) Alarming

3) Frightening

4) Approaching

Correct Answer: Helping

QID : 259 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Obliging

Options:

1) Unfriendly

2) Helpful

3) Civil

4) Amiable

Correct Answer: Unfriendly

QID : 260 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Insatiable

Options:

1) Crying

2) Wanting

3) Content

4) Desiring

Correct Answer: Content

QID : 261 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Full of hot air

Options:

1) Full of nonsense

2) Full of innocence

3) Full of energy

4) Full of money

Correct Answer: Full of nonsense

QID : 262 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Nothing doing

Options:

1) Not a chance

2) Come to nothing

3) Failing in one's efforts



4) Pretending to be something
Correct Answer: Not a chance

QID : 263 - Improve the bracketed part of the
sentence.

States desperately trying to better their socio-economic
report cards don't need (those) kind of psychological
dampener.

Options:

1) that

2)it

3) whose

4) No improvement

Correct Answer: that

QID : 264 - Improve the bracketed part of the
sentence.

The apex court has directed that (their) is a need to
bring in mechanism in the Government function to make
it transparent.

Options:

1) these

2) those

3) there

4) No improvement

Correct Answer: there

QID : 265 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

One who employs.

Options:

1) Employer

2) Employee

3) Examinee

4) Accountant

Correct Answer: Employer

QID : 266 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

Eight armed sea creature.

Options:

1) Octopus

2) Dolphin

3) Crocodile

4) Whale

Correct Answer: Octopus

QID : 267 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Lacture

2) Lechure

3) Lecture

4) Lectore

Correct Answer: Lecture

QID : 268 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Confassion

2) Confesion

3) Confession

4) Knotession

Correct Answer: Confession

QID : 269 - Rearrange the parts of the sentence in
correct order.

Low education means

P: to the poverty and

Q: gender inequality in the society
R: low employment which leads
Options:

1) RPQ

2) PQR

3) QRP

4) QPR

Correct Answer: RPQ

QID : 270 - Rearrange the parts of the sentence in
correct order.

We should stop

P: the quality of water

Q: usage properly and maintain
R: misusing water, manage water
Options:

1) RPQ

2) PQR

3) QRP

4) RQP

Correct Answer: RQP

QID : 271 - In the following passage some of the words

have been left out. Read the passage carefully and select

the correct answer for the given blank out of the four

alternatives.

After the independence, our country has been in

the promotion of spreading science for the

national development. of policies made by the

government has emphasized the self-sufficiency and
growth and development all through the country.

Both science and technology have the economic

growth and social development in the country in an

extraordinary manner.

our country has been

Options:

1) involved

2) revolved

3) rotated

4) solved

Correct Answer: involved

in the promotion

QID : 272 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

After the independence, our country hasbeen__ in
the promotion of spreading science for the
national development. of policies made by the
government has emphasized the self-sufficiency and
__ growth and development all through the country.
Both science and technology have the economic




growth and social development in the country in an
extraordinary manner.

spreading science for the national
Options:

1)on

2) of

3) for

4) above

Correct Answer: of

QID : 273 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
After the independence, our country has been in
the promotion of spreading science for the
national development. of policies made by the
government has emphasized the self-sufficiency and

growth and development all through the country.
Both science and technology have the economic
growth and social development in the country in an
extraordinary manner.

of policies made by the government

Options:
1) Abriety
2) Sovereignty
3) Variety
4) Legibility
Correct Answer: Variety

QID : 274 - In the following passage some of the words

have been left out. Read the passage carefully and select

the correct answer for the given blank out of the four

alternatives.

After the independence, our country has been in

the promotion of spreading science for the

national development. of policies made by the

government has emphasized the self-sufficiency and
growth and development all through the country.

Both science and technology have the economic

growth and social development in the country in an

extraordinary manner.

the self-sufficiency and

Options:

1) unattainable

2) unreasonable

3) ending

4) sustainable

Correct Answer: sustainable

growth

QID : 275 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
After the independence, our country has been in
the promotion of spreading science for the
national development. of policies made by the
government has emphasized the self-sufficiency and
growth and development all through the country.
Both science and technology have the economic
growth and social development in the country in an
extraordinary manner.

technology have the economic growth

Options:

1) destroyed

2) effected

3) inculcated

4) impacted

Correct Answer: impacted

QID : 276 - Which Veda depicts the information about
the most ancient Vedic age culture?

e ag 7 A gor & yrheTaw dFpfa & SR A
e & a8 82

Options:

1) Rig Veda

EXEES

2) Yajurveda
Iorde

3) Atharvaveda
3Ydag

4) Samaveda
G

Correct Answer: Rig Veda

%3dg

QID : 277 - What was the other name of Chanakya?
0T bl Ush qEXT «ITH AT ar?
Options:

1) Bhattaswamy

STgEarHr

2) Vishnugupta

fasoprea

3) Rajasekhar

TTIE

4) Visakhadatta

faem@eed

Correct Answer: Vishnugupta

fasuereT

99

QID : 278 - What are sea waves generated by undersea
earthquakes called?

e PR HFA GaNT 3o TN e T T
HET ST g ?

Options:

1) Cirque

%

2) Tsunami

geATHT

]

3) Scale
Thel

4) Kem
FH

Correct Answer: Tsunami

geATHT

]

QID : 279 - Mariana Trench, the deepest part of the
world's oceans is located in which ocean?



AR do forg AgraeR A fyd @od g ¢ § ?
Options:

1) Pacific Ocean

T HAGTHTIR

2) Atlantic Ocean

3cdifedh AGTARR

3) Indian Ocean

fee FEETR

4) Arctic Ocean

3Tehieeh FAGRIPR

Correct Answer: Pacific Ocean
T HAGTHTIR

QID : 280 - Constitution of India was enforced
on

R T [AUIT AL g3 2 |
Options:

1) January 26, 1950

26 SfeTadl, 1950 &I

2) January 26, 1952

26 STeAad, 1952 &l

3) August 15, 1948

15 319TEd, 1948 i

4) November 26, 1949

26 sTdeR, 1949 &I

Correct Answer: January 26, 1950

26 STeTaxr, 1950 T

QID : 281 - The process of amendment has been
mentioned in which part of the Indian Constitution?

afaensT & foha awT & Ifaue aiye T gfshar &
oo g7

Options:

1) Part 3

#HTIT 3

2) Part 4

HTIT 4

3) Part 20

#TIT 20

4) Part 21

T 21

Correct Answer: Part 20
#HTIT 20

QID : 282 - The state of economy at which the value of
the currency falls and the price increases, is called

a Jaedr fAud #oT &1 Hed X Srar § 3 e

g¢ STl g, Fgeltar & |
Options:

1) Inflation

Aerehrfa

2) Money deflation

HeoT-3aehia

3) Recession

RarereT

4) Amortization
TAETSARA

Correct Answer: Inflation

HETERIT

9

QID : 283 - Which of the following is the problem of
small industries?

fFrafafed & & oy 3 & Far gHE 82
Options:

1) Lack of capital

S IECI

2) Lack of marketing information

fAqUT SATTRIY T 37HTT

3) Lack of raw materials

FTd AT &l AT

4) All options are correct

Tt faereT agr &

Correct Answer: All options are correct

gt faereT agr &

QID : 284 - The difference between isotopes of an
element is due to the presence of which different
numbers?

Rl dca & gATYIRT & &g AR fohetehr [@eet
(31e1eT) F&AT Fr 3URAUfT & FROT giar g2
Options:

1) Proton

gieteT

2) Neutron

=gl

3) Electron

gelerglel

4) Photon

Lorar

Correct Answer: Neutron
QID : 285 - Base tastes like
HEAT T EAIG BT Bl
Options:

1) Saline

YRT

2) Sour

ECEL)

3) sweet

Hrar

4) Tasteless
FarcEre

Correct Answer: Saline
YRT

QID : 286 - Weight of the body is




R &7 Foted

Options:

1) same everywhere at the surface of the earth
gt dr Tcdg W Gl SHIE U AATT BT &
2) maximum at the poles

et 9X v g ¢

3) maximum on the equator

fasae Y@r o 3if&ehds giar g

4) less on hills, compared to plains

AeTel & Jefll # YgISA W HA gl &
Correct Answer: maximum at the poles

et 9T Jifrehcd g &

QID : 287 - Work principle of washing machine is

aRT AT M FT Rga & |
Options:

1) Pressure power

CEICEIES]

2) Dialysis

gt

3) Centrifugation

9GOt

4) Diffusion

faaoT

Correct Answer: Centrifugation

3heg 0T

QID : 288 - Which is the smallest flower in the world?
HER & §qd BT T5T Hiel AT 2
Options:

1) Rafflesia

YN faar

2) Lotus

ShHT

3) Rose

?’l?—l'l_d

4) Wolffia

gewar

9

Correct Answer: Wolffia

giewar

S

QID : 289 - Who discovered the nucleus for the first
time in cell?

IR F iy I Wil FaTUH fohafel &1 A2
Options:

1) Leeuwenhoek

TR

2) Schwann

LCIG]

3) Huffmaster

AT

4) Robert Brown

JaE F3A

Correct Answer: Robert Brown

U 3T

QID : 290 - Muscle study is called
ATRAT T 37ETTT FEATdT &
Options:

1) Mycology

HATSHIATST

2) Myology

AT

3) Mystology

Hrardis &

4) Nephrology

APIeTSl 3

Correct Answer: Myology

AT

QID : 291 - An example of abiotic component of the
environment is

JITERUT & 3old 3GId AT 36eR0T & |
Options:

1) vegetation

geeafa

2) animal

SileTdY

3) wind

arq

S

4) All options are correct.
s faweT Ter €1
Correct Answer: wind
arq

S

QID : 292 - Which of the following is considered as the
fastest printer?

STH W HANYS ool Ifa &1 X fFa AT J1ar g2
Options:

1) laser printer

oo e

2) Jet printer

Sic feX

3) thermal printer

yFe X

4) Daisy wheel printer

3ot egrer foiex

Correct Answer: laser printer

o X

QID : 293 - Which game has the highest number of
players in each side?

Rg Tl H s a7 & Wenfsat Hr gear gaifas
g 82

Options:

1) Football

Hediol

9

2) Rugby football



@ Pedrd

3) Hockey

glehT

4) Ice hockey

IS gl

Correct Answer: Rugby football
@ Pedrd

QID : 294 - Which of the following book is related to a
character named "Mogli"?

fAefafad & @ g qeds 1 deer "Jerel” JHS
TH 919 ¥ g2

Options:

1) Daughter of the East

3icY 3F § 5T

2) Malgudi days

AT ST

3) An unknown Indian

U 3eelel 33T

4) The Jungle Book

StaTer b

Correct Answer: The Jungle Book
StaTer eh

QID : 295 - From where did the Central Minister of
State for Culture and Tourism started the 'Swachh Bharat

App"?

FANT WFT T T T AT g F R
AT ¥ T8 AR T I IRFA TR
Options:

1) From Red Fort

oTer fohelT &

2) From Parliament House

qHG HaT &

3) From National Museum (New Delhi)

TSI Haererd (75 feeeh) &

4) No option is correct.

1S ol fashoq @er A8 &1

Correct Answer: From National Museum (New Delhi)

TSET HIETerd (75 feeeh) &

QID : 296 - Who is the exponent of Quantum theory?
FaicH Ragid & gfades &l g2
Options:

1) G.S. Ohm

S, T, A

2) Newton

e

3) Max Planck

AFE ol

4) ]. S. Fleming

ST, TH. FelfHdT

Correct Answer: Max Planck

Hag ool

QID : 297 - Which kind of instrument is Mridangam?
HearA fhd ghR &I dred gl 87
Options:

1) Two-faced drum

ar #g arelr alel

2) Flute

Teh YR T S

3) A string instrument

U dR acd

4) An antelope

T 3

Correct Answer: Two-faced drum
al Hg drelr gl

QID : 298 - Who of the following is the first Indian to
receive Golden Globe Award (2009)?

fAefaf@d & @ @l e Telld qIERR (200 ) Sic=
Tl 9gell AR 872

Options:

1) Shiv Kumar Verma

g AR AT

2) Anu Malik

31 AT

3) Zakir Hussain

SR g

4) A. R. Rahman

T. 3R, @A

Correct Answer: A. R. Rahman
T. 3R, EAA

QID : 299 - Which of the following country's
government passed the "Hindu Marriage Bill 2016"?

Prafafad & & frg 3o & @R 3 "R e
a9 2016" aIiRd fhar?
Options:

1) Nepal

AT

2) Bangladesh

CIECICA]

3) Pakistan

qifehedreT

4) Sri Lanka

Hreiepr

Correct Answer: Pakistan

qrfehEdTeT

QID : 300 - When does Bangladesh celebrate its
independence day?

TG HYAT TIATAT Gad e HeAar g?
Options:

1) March 26, 1971

26 AT, 1971

2) March 26, 1972



26 AT, 1972

3) June 22, 1976

22 511, 1976

4) June 22, 1977

22 511, 1977

Correct Answer: March 26, 1971
26 AT, 1971



